

FINAL TOURNAMENT SUMMARY

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR	OFFICIAL MONEY
1	Mi Hyang Lee	67-66-71-73	277	-11	\$390,000
2	Weiwei Zhang	66-71-72-69	278	-10	\$239,531
T3	Auston Kim	67-68-74-71	280	-8	\$154,091
T3	Aditi Ashok	68-70-70-72	280	-8	\$154,091
T5	Rio Takeda	71-70-67-73	281	-7	\$83,931
T5	A Lim Kim	70-67-71-73	281	-7	\$83,931
T5	Hye-Jin Choi	71-68-68-74	281	-7	\$83,931
T5	Yu Liu	68-66-73-74	281	-7	\$83,931
9	Jenny Bae	70-71-71-71	283	-5	\$58,359
T10	Erika Hara	71-71-71-71	284	-4	\$51,145
T10	Lucy Li	71-72-67-74	284	-4	\$51,145
T12	Yujie Liu (a) *	70-74-70-71	285	-3	
T12	Esther Henseleit	68-71-74-72	285	-3	\$44,456
T12	Yan Liu	70-73-68-74	285	-3	\$44,456
T15	Erica Shepherd	73-72-70-71	286	-2	\$38,118
T15	Ayaka Furue	68-69-76-73	286	-2	\$38,118
T15	Lindy Duncan	69-73-70-74	286	-2	\$38,118
T18	Jenny Shin	71-70-74-72	287	-1	\$31,422
T18	Mary Liu	66-72-77-72	287	-1	\$31,422
T18	Alexa Pano	71-69-73-74	287	-1	\$31,422
T18	Leona Maguire	69-73-69-76	287	-1	\$31,422
T18	Youmin Hwang	66-72-73-76	287	-1	\$31,422
23	Shiyuan Zhou	69-72-72-75	288	E	\$28,064
T24	Jing Yan	73-71-72-73	289	+1	\$25,540
T24	Robyn Choi	71-70-72-76	289	+1	\$25,540
T24	Ruoning Yin	68-71-74-76	289	+1	\$25,540
T24	Pornanong Phatlum	68-70-75-76	289	+1	\$25,540
T28	Chanettee Wannasaen	69-79-73-69	290	+2	\$21,455
T28	Peiyun Chien	73-74-71-72	290	+2	\$21,455
T28	Laney Frye	74-71-73-72	290	+2	\$21,455
T28	Ying Xu	69-74-73-74	290	+2	\$21,455
T28	Muni He *	71-69-70-80	290	+2	\$21,455
T33	Wei-Ling Hsu	70-78-71-72	291	+3	\$17,179
T33	Yuna Nishimura	77-69-73-72	291	+3	\$17,179
T33	Yuka Saso	75-72-71-73	291	+3	\$17,179
T33	Albane Valenzuela	73-70-74-74	291	+3	\$17,179
T33	Mimi Rhodes	75-70-71-75	291	+3	\$17,179
T33	Yuai Ji	74-73-66-78	291	+3	\$17,179
T39	Frida Kinhult	71-70-80-71	292	+4	\$13,934
T39	Perrine Delacour	73-73-73-73	292	+4	\$13,934
T39	Jasmine Suwannapura	75-73-69-75	292	+4	\$13,934
T39	Dongeun Lee	74-71-72-75	292	+4	\$13,934
T43	Linnea Strom	73-71-76-73	293	+5	\$12,065
T43	Ana Belac	74-73-70-76	293	+5	\$12,065
T43	Bailey Tardy	74-69-74-76	293	+5	\$12,065
T46	Yana Wilson	72-73-76-73	294	+6	\$10,557
T46	Ruixin Liu	71-77-72-74	294	+6	\$10,557
T46	Chiara Tamburlini	72-76-71-75	294	+6	\$10,557
T46	Chella Choi	70-74-73-77	294	+6	\$10,557

FINAL TOURNAMENT SUMMARY

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR	OFFICIAL MONEY
T50	Soo Bin Joo	74-74-76-71	295	+7	\$8,275
T50	Zixuan Wang	71-77-73-74	295	+7	\$8,275
T50	Nastasia Nadaud	74-73-74-74	295	+7	\$8,275
T50	Xinen Lin	71-72-78-74	295	+7	\$8,275
T50	Wanyao Lu	72-73-75-75	295	+7	\$8,275
T50	Gemma Dryburgh	71-73-76-75	295	+7	\$8,275
T50	Cocona Sakurai	71-72-76-76	295	+7	\$8,275
T50	Carolina Chacarra	69-72-78-76	295	+7	\$8,275
T50	Dewi Weber	71-73-73-78	295	+7	\$8,275
T50	Hinako Shibuno	74-70-70-81	295	+7	\$8,275
T60	Jodi Ewart Shadoff	75-72-78-71	296	+8	\$6,525
T60	Ssu-Chia Cheng	76-71-74-75	296	+8	\$6,525
T60	Emma McMyler	68-74-75-79	296	+8	\$6,525
T60	Briana Chacon	72-74-70-80	296	+8	\$6,525
T64	Qianhui Lin	72-76-72-77	297	+9	\$6,033
T64	Zining An	67-75-78-77	297	+9	\$6,033
T64	Melanie Green	73-74-71-79	297	+9	\$6,033
T67	Xiang Sui	74-72-77-75	298	+10	\$5,639
T67	Suvichaya Vinijchaitham	75-71-75-77	298	+10	\$5,639
T67	Laetitia Beck	72-72-74-80	298	+10	\$5,639
70	Gina Kim	72-76-73-79	300	+12	\$5,377
T71	Minji Kang	72-74-79-76	301	+13	\$5,214
T71	Celine Borge	74-74-74-79	301	+13	\$5,214
T73	Arpichaya Yubol	77-71-75-80	303	+15	\$5,081
T73	Shuying Li	74-73-75-81	303	+15	\$5,081
75	Lauren Walsh	71-77-80-76	304	+16	\$4,983
	Pajaree Anannarukarn	75-74	149	CUT	
	Haeji Kang	75-74	149	CUT	
	Kumkang Park	75-74	149	CUT	
	Camille Boyd	74-75	149	CUT	
	Paula Reto	72-77	149	CUT	
	Carolina Melgrati	76-74	150	CUT	
	Manon De Roey	73-77	150	CUT	
	Jeongeun Lee5	73-77	150	CUT	
	Yuri Yoshida	73-77	150	CUT	
	Yahui Zhang	72-78	150	CUT	
	Saki Baba	78-73	151	CUT	
	Isi Gabsa	75-76	151	CUT	
	Benedetta Moresco	78-74	152	CUT	
	Supamas Sangchan	76-76	152	CUT	
	Polly Mack	80-73	153	CUT	
	Yanhong Pan	76-77	153	CUT	
	Riley Smyth	76-77	153	CUT	
	Xiaowen Yin	75-78	153	CUT	
	Yijia Ren	77-77	154	CUT	
	Jingwen Zhang	77-77	154	CUT	
	Hailee Cooper	76-78	154	CUT	
	Yuli Shi	76-78	154	CUT	
	Runzhi Pang	71-83	154	CUT	

FINAL TOURNAMENT SUMMARY

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR	OFFICIAL MONEY
	Leah John	74-81	155	CUT	
	Aline Krauter	81-75	156	CUT	
	Xinyu Wang (a) *	79-77	156	CUT	
	Stephanie Meadow	78-78	156	CUT	
	Anne Chen	75-81	156	CUT	
	Sherman Santiwivatthanaphong	80-77	157	CUT	
	Ziyan Meng (a) *	79-78	157	CUT	
	Moriya Jutanugarn	82-78	160	CUT	
	Yaxuan Huang (a) *	82-80	162	CUT	
	Mohan Du	86-79	165	CUT	

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mi Hyang Lee (-11)

AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	5	5	3	6	4	4	4	6	40	3	3	4	3	5	4	3	4	4	33	73
RD 3 (JBB)	3	3	5	4	5	3	4	4	5	36	4	3	3	5	6	3	3	4	4	35	71
RD 2 (JBB)	4	3	5	3	4	3	3	4	3	32	4	3	4	4	4	4	3	4	4	34	66
RD 1 (JBB)	4	3	6	3	3	4	3	4	4	34	5	3	4	4	4	3	3	3	4	33	67

Weiwei Zhang (-10)

AFTER ROUND 4 - TOTAL SCORE: 278

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	3	3	3	5	2	5	4	34	5	2	4	4	4	4	2	5	5	35	69
RD 3 (JBB)	4	4	5	3	4	4	2	4	4	34	4	3	6	5	4	5	3	3	5	38	72
RD 2 (JBB)	6	5	4	2	3	5	3	5	4	37	4	3	4	4	4	4	3	3	5	34	71
RD 1 (JBB)	4	4	5	3	3	4	3	3	3	32	3	4	4	4	5	3	3	3	5	34	66

Aditi Ashok (-8)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	4	4	6	5	38	4	3	4	4	4	4	3	4	4	34	72
RD 3 (JBB)	3	3	5	3	5	4	2	4	5	34	4	3	4	5	5	4	2	4	5	36	70
RD 2 (JBB)	4	4	5	4	3	4	3	5	4	36	4	3	4	3	5	4	3	4	4	34	70
RD 1 (JBB)	4	4	4	3	4	3	3	4	4	33	4	3	4	5	4	4	3	4	4	35	68

Auston Kim (-8)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	5	5	3	4	4	3	5	5	37	5	3	4	4	4	4	3	3	4	34	71
RD 3 (JBB)	4	4	5	3	4	4	4	6	4	38	4	3	4	5	5	4	3	4	4	36	74
RD 2 (JBB)	4	4	4	2	4	4	3	3	5	33	4	3	4	4	5	4	3	4	4	35	68
RD 1 (JBB)	4	3	4	4	3	4	4	4	3	33	3	3	5	4	4	5	2	4	4	34	67

Hye-Jin Choi (-7)

AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	6	5	3	2	5	3	5	4	38	2	4	4	4	6	4	3	4	5	36	74
RD 3 (JBB)	3	4	4	2	4	3	3	4	4	31	4	3	4	4	5	4	3	5	5	37	68
RD 2 (JBB)	4	3	5	3	3	4	3	5	4	34	5	3	4	3	5	3	2	4	5	34	68
RD 1 (JBB)	3	4	5	3	5	4	3	3	4	34	4	3	4	4	5	4	3	5	5	37	71

A Lim Kim (-7)

AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	3	3	4	5	36	5	3	5	4	5	3	3	4	5	37	73
RD 3 (JBB)	4	4	5	3	4	4	3	5	3	35	4	3	4	4	4	4	4	3	6	36	71
RD 2 (JBB)	4	4	4	3	4	4	2	4	4	33	4	3	4	4	4	4	3	4	4	34	67
RD 1 (JBB)	4	4	5	3	4	3	3	5	4	35	5	3	4	4	5	3	3	4	4	35	70

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yu Liu (-7)

AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	4	3	4	4	36	5	3	5	4	5	4	3	4	5	38	74
RD 3 (JBB)	4	4	6	4	4	4	3	4	4	37	6	3	2	4	5	4	4	4	4	36	73
RD 2 (JBB)	3	5	4	3	4	5	2	4	4	34	4	3	4	4	4	3	2	3	5	32	66
RD 1 (JBB)	4	4	6	4	4	4	3	4	3	36	4	3	4	3	5	3	2	3	5	32	68

Rio Takeda (-7)

AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	4	3	3	5	4	36	4	3	3	4	5	4	4	6	4	37	73
RD 3 (JBB)	4	4	5	3	5	4	3	3	4	35	3	3	3	4	5	4	2	3	5	32	67
RD 2 (JBB)	4	5	4	2	3	3	3	5	4	33	4	2	5	5	4	3	4	4	6	37	70
RD 1 (JBB)	3	4	5	4	4	4	4	4	4	36	4	3	4	4	4	4	3	4	5	35	71

Jenny Bae (-5)

AFTER ROUND 4 - TOTAL SCORE: 283

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	6	3	4	4	2	5	4	36	4	3	3	3	6	4	3	4	5	35	71
RD 3 (JBB)	3	4	4	3	4	4	2	5	4	33	5	3	4	5	5	4	3	4	5	38	71
RD 2 (JBB)	4	5	4	3	6	4	2	5	4	37	4	3	4	4	5	3	3	4	4	34	71
RD 1 (JBB)	4	4	5	3	4	4	3	4	4	35	5	3	4	4	4	3	3	5	4	35	70

Erika Hara (-4)

AFTER ROUND 4 - TOTAL SCORE: 284

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	4	4	3	4	4	35	5	3	4	4	4	4	3	4	5	36	71
RD 3 (JBB)	4	4	4	3	5	4	3	5	5	37	4	3	5	4	3	4	2	4	5	34	71
RD 2 (JBB)	5	4	3	4	3	4	4	5	4	36	5	3	3	4	5	4	3	4	4	35	71
RD 1 (JBB)	5	4	5	3	4	3	2	4	3	33	6	3	4	4	4	4	4	5	4	38	71

Lucy Li (-4)

AFTER ROUND 4 - TOTAL SCORE: 284

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	4	3	5	4	35	6	3	4	4	5	4	3	5	5	39	74
RD 3 (JBB)	4	4	4	3	4	4	2	5	4	34	4	3	3	4	4	3	3	4	5	33	67
RD 2 (JBB)	3	4	5	3	4	5	3	4	4	35	5	4	4	4	4	3	3	4	6	37	72
RD 1 (JBB)	4	3	5	3	4	3	3	4	4	33	3	3	5	4	5	6	3	4	5	38	71

Esther Henseleit (-3)

AFTER ROUND 4 - TOTAL SCORE: 285

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	4	3	4	4	3	4	5	36	4	3	5	5	4	3	3	4	5	36	72
RD 3 (JBB)	4	3	5	3	5	4	3	5	5	37	4	3	4	6	5	3	3	5	4	37	74
RD 2 (JBB)	5	5	4	3	4	4	3	5	4	37	4	3	4	3	5	3	3	3	6	34	71
RD 1 (JBB)	4	3	6	3	4	4	3	4	3	34	3	4	4	4	4	2	3	5	5	34	68

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yan Liu (-3)

AFTER ROUND 4 - TOTAL SCORE: 285

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	6	4	4	5	3	4	5	40	4	3	4	4	4	4	2	3	6	34	74
RD 3 (JBB)	4	3	5	3	4	4	3	5	5	36	3	3	3	5	5	4	2	3	4	32	68
RD 2 (JBB)	4	4	4	3	3	4	3	5	4	34	4	3	5	4	5	5	3	4	6	39	73
RD 1 (JBB)	5	3	5	3	4	4	2	5	4	35	4	3	5	3	5	5	2	4	4	35	70

Yujie Liu (a) * (-3)

AFTER ROUND 4 - TOTAL SCORE: 285

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	3	6	4	4	4	3	5	4	37	3	3	4	4	4	4	3	4	5	34	71
RD 3 (JBB)	5	3	5	2	4	4	3	4	4	34	4	3	5	4	5	4	3	4	4	36	70
RD 2 (JBB)	4	4	5	3	4	5	3	5	4	37	4	3	5	5	5	4	3	3	5	37	74
RD 1 (JBB)	4	3	5	4	3	4	3	4	4	34	4	3	5	4	5	3	3	4	5	36	70

Lindy Duncan (-2)

AFTER ROUND 4 - TOTAL SCORE: 286

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	4	4	5	4	36	5	3	5	4	5	4	2	5	5	38	74
RD 3 (JBB)	3	3	5	3	4	3	3	4	4	32	5	3	4	5	5	5	3	3	5	38	70
RD 2 (JBB)	4	4	5	2	4	4	3	5	4	35	4	4	4	4	5	4	4	4	5	38	73
RD 1 (JBB)	4	3	4	3	4	4	3	5	4	34	4	3	4	4	5	3	3	4	5	35	69

Ayaka Furue (-2)

AFTER ROUND 4 - TOTAL SCORE: 286

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	4	3	4	4	36	4	3	5	4	5	4	3	4	5	37	73
RD 3 (JBB)	3	5	5	3	4	4	3	4	5	36	7	3	5	4	5	4	3	4	5	40	76
RD 2 (JBB)	4	3	5	4	4	4	3	5	4	36	3	3	5	4	5	3	2	3	5	33	69
RD 1 (JBB)	4	4	4	3	4	4	3	4	3	33	3	3	4	4	5	4	3	4	5	35	68

Erica Shepherd (-2)

AFTER ROUND 4 - TOTAL SCORE: 286

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	6	3	5	2	4	5	3	4	3	35	5	3	4	4	5	4	3	3	5	36	71
RD 3 (JBB)	4	4	5	3	4	4	3	4	4	35	4	3	3	4	5	4	2	5	5	35	70
RD 2 (JBB)	4	5	4	3	5	5	2	5	4	37	4	3	4	3	4	4	3	5	5	35	72
RD 1 (JBB)	5	4	5	3	4	4	3	4	4	36	5	3	4	4	5	4	4	4	4	37	73

Youmin Hwang (-1)

AFTER ROUND 4 - TOTAL SCORE: 287

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	5	4	4	4	3	4	5	38	4	4	5	4	7	4	2	4	4	38	76
RD 3 (JBB)	4	4	5	4	5	5	3	4	4	38	4	3	4	4	4	4	3	4	5	35	73
RD 2 (JBB)	3	5	4	4	3	4	3	6	4	36	4	4	5	5	4	4	3	3	4	36	72
RD 1 (JBB)	3	3	5	3	4	4	3	4	4	33	4	3	4	4	5	3	2	3	5	33	66

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mary Liu (-1)

AFTER ROUND 4 - TOTAL SCORE: 287

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	5	5	3	4	5	2	5	4	38	4	4	5	3	4	3	2	4	5	34	72
RD 3 (JBB)	4	4	4	3	6	4	2	5	4	36	4	3	5	4	5	5	7	4	4	41	77
RD 2 (JBB)	3	5	4	3	4	4	3	5	5	36	4	3	3	4	5	4	4	5	4	36	72
RD 1 (JBB)	4	4	5	2	3	4	2	4	4	32	4	3	4	4	5	3	3	4	4	34	66

Leona Maguire (-1)

AFTER ROUND 4 - TOTAL SCORE: 287

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	4	3	5	4	3	4	37	6	2	5	4	5	5	3	4	5	39	76
RD 3 (JBB)	4	4	5	3	5	3	2	4	4	34	4	4	4	5	4	3	3	3	5	35	69
RD 2 (JBB)	4	4	4	3	4	4	3	5	4	35	5	3	4	5	4	4	3	5	5	38	73
RD 1 (JBB)	5	3	5	4	4	4	3	5	3	36	4	3	4	4	4	3	3	4	4	33	69

Alexa Pano (-1)

AFTER ROUND 4 - TOTAL SCORE: 287

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	5	4	3	5	5	39	5	3	3	4	4	4	3	4	5	35	74
RD 3 (JBB)	3	5	7	3	4	4	3	4	5	38	4	3	5	4	4	4	3	4	4	35	73
RD 2 (JBB)	4	4	4	3	4	3	4	4	5	35	5	3	4	3	5	3	3	4	4	34	69
RD 1 (JBB)	4	5	5	5	4	3	3	4	4	37	4	3	3	4	5	3	3	4	5	34	71

Jenny Shin (-1)

AFTER ROUND 4 - TOTAL SCORE: 287

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	5	3	5	4	3	5	4	38	4	3	4	3	4	4	3	4	5	34	72
RD 3 (JBB)	3	4	5	3	4	4	4	4	5	36	5	3	4	5	5	4	3	4	5	38	74
RD 2 (JBB)	4	4	4	3	4	4	3	5	4	35	4	3	4	4	4	4	3	4	5	35	70
RD 1 (JBB)	4	3	6	3	4	3	3	5	4	35	4	2	5	4	4	3	3	5	6	36	71

Shiyuan Zhou (E)

AFTER ROUND 4 - TOTAL SCORE: 288

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	6	3	4	5	4	5	4	40	5	2	4	4	4	5	3	3	5	35	75
RD 3 (JBB)	4	4	5	2	4	3	4	4	4	34	4	4	4	4	5	4	4	4	5	38	72
RD 2 (JBB)	5	5	4	3	3	4	3	5	4	36	4	2	5	4	5	3	3	5	5	36	72
RD 1 (JBB)	4	4	6	4	3	3	3	4	4	35	4	3	4	4	4	4	3	4	4	34	69

Robyn Choi (+1)

AFTER ROUND 4 - TOTAL SCORE: 289

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	4	4	4	3	6	4	39	4	3	4	4	5	4	3	4	6	37	76
RD 3 (JBB)	3	5	5	3	5	4	3	5	5	38	5	3	4	4	4	4	2	3	5	34	72
RD 2 (JBB)	4	4	4	3	4	4	4	5	4	36	3	4	4	4	5	4	2	3	5	34	70
RD 1 (JBB)	4	4	5	2	5	4	3	4	4	35	4	3	4	4	4	5	3	4	5	36	71

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Pornanong Phatlum (+1)

AFTER ROUND 4 - TOTAL SCORE: 289

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	3	5	4	6	5	3	4	4	38	5	4	6	4	5	4	2	3	5	38	76
RD 3 (JBB)	4	5	6	3	4	4	4	4	4	38	4	3	3	5	5	5	4	3	5	37	75
RD 2 (JBB)	4	4	4	3	4	4	2	5	4	34	4	2	5	4	5	4	3	5	4	36	70
RD 1 (JBB)	3	4	4	2	4	4	3	4	4	32	5	3	4	4	5	3	3	4	5	36	68

Jing Yan (+1)

AFTER ROUND 4 - TOTAL SCORE: 289

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	4	4	3	5	4	36	5	3	5	3	4	4	4	4	5	37	73
RD 3 (JBB)	4	4	5	3	5	4	3	3	4	35	4	3	4	5	5	4	3	4	5	37	72
RD 2 (JBB)	4	4	5	3	4	5	3	5	4	37	4	2	3	3	5	4	4	4	5	34	71
RD 1 (JBB)	4	5	5	4	3	4	3	5	4	37	5	3	4	5	5	4	3	4	3	36	73

Ruoning Yin (+1)

AFTER ROUND 4 - TOTAL SCORE: 289

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	4	4	3	5	4	36	4	2	5	4	5	4	3	7	6	40	76
RD 3 (JBB)	4	5	6	2	4	4	3	6	5	39	4	4	4	4	5	4	3	3	4	35	74
RD 2 (JBB)	4	4	4	3	4	4	1	5	5	34	4	3	4	4	6	4	3	3	6	37	71
RD 1 (JBB)	3	4	4	4	4	4	3	4	3	33	4	3	4	4	5	4	3	4	4	35	68

Peiyun Chien (+2)

AFTER ROUND 4 - TOTAL SCORE: 290

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	5	3	4	3	34	5	3	5	5	5	4	3	3	5	38	72
RD 3 (JBB)	4	3	6	3	5	3	4	4	4	36	3	3	4	4	4	6	3	4	4	35	71
RD 2 (JBB)	4	5	4	3	4	5	3	5	4	37	5	3	4	4	6	4	3	3	5	37	74
RD 1 (JBB)	4	4	5	4	5	4	3	5	4	38	4	3	4	4	5	3	3	4	5	35	73

Laney Frye (+2)

AFTER ROUND 4 - TOTAL SCORE: 290

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	4	2	4	4	3	5	4	35	3	3	5	4	5	4	2	5	6	37	72
RD 3 (JBB)	3	4	5	3	5	4	3	4	4	35	4	4	3	5	5	5	4	3	5	38	73
RD 2 (JBB)	6	4	4	3	4	5	3	4	4	37	5	2	4	3	4	4	4	4	4	34	71
RD 1 (JBB)	4	4	5	3	3	4	3	5	4	35	4	3	4	4	4	5	3	5	7	39	74

Muni He * (+2)

AFTER ROUND 4 - TOTAL SCORE: 290

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	5	5	3	5	4	4	5	5	41	4	4	4	4	5	4	3	5	6	39	80
RD 3 (JBB)	4	5	4	3	5	4	2	4	5	36	4	3	5	3	4	4	3	4	4	34	70
RD 2 (JBB)	4	4	4	4	3	4	3	4	4	34	4	3	3	5	4	4	3	4	5	35	69
RD 1 (JBB)	4	4	5	2	5	4	3	4	4	35	4	3	4	4	5	4	3	4	5	36	71

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Chanettee Wannasaen (+2)

AFTER ROUND 4 - TOTAL SCORE: 290

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	4	3	3	5	4	36	4	3	4	3	4	4	2	4	5	33	69
RD 3 (JBB)	4	5	5	3	4	5	3	5	4	38	4	3	4	4	4	4	4	3	5	35	73
RD 2 (JBB)	4	5	6	3	5	4	4	5	4	40	5	3	6	4	5	4	2	5	5	39	79
RD 1 (JBB)	5	4	4	4	4	3	3	5	4	36	4	2	4	3	5	4	3	4	4	33	69

Ying Xu (+2)

AFTER ROUND 4 - TOTAL SCORE: 290

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	5	3	3	4	5	3	5	4	35	4	3	4	4	6	5	3	4	6	39	74
RD 3 (JBB)	4	3	5	3	4	4	4	4	5	36	5	4	4	4	4	4	3	4	5	37	73
RD 2 (JBB)	4	4	5	4	3	4	4	5	4	37	4	3	4	4	5	4	4	5	4	37	74
RD 1 (JBB)	4	4	5	4	5	3	2	4	3	34	4	3	4	4	6	3	3	3	5	35	69

Wei-Ling Hsu (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	5	3	4	5	4	36	5	3	5	3	4	3	3	5	5	36	72
RD 3 (JBB)	4	5	5	3	5	4	3	4	4	37	4	2	3	4	4	4	3	4	6	34	71
RD 2 (JBB)	4	4	4	3	5	5	3	5	5	38	5	3	4	4	6	4	4	5	5	40	78
RD 1 (JBB)	4	4	5	3	4	4	3	4	5	36	4	4	4	4	5	3	3	3	4	34	70

Yuai Ji (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	6	5	5	2	4	3	3	6	4	38	4	3	4	5	6	4	3	5	6	40	78
RD 3 (JBB)	3	4	4	3	4	3	3	4	3	31	4	2	4	6	5	4	2	4	4	35	66
RD 2 (JBB)	4	3	6	3	4	4	3	5	4	36	5	4	5	4	5	3	3	4	4	37	73
RD 1 (JBB)	4	4	5	3	4	3	4	4	5	36	5	3	4	4	5	4	3	6	4	38	74

Yuna Nishimura (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	3	3	4	4	35	5	3	6	3	5	3	3	4	5	37	72
RD 3 (JBB)	4	3	5	3	5	5	3	5	4	37	4	3	5	4	5	4	3	4	4	36	73
RD 2 (JBB)	4	4	5	3	3	5	2	5	3	34	4	3	4	4	5	3	3	5	4	35	69
RD 1 (JBB)	4	4	6	4	5	4	3	4	4	38	4	3	4	5	5	6	3	4	5	39	77

Mimi Rhodes (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	7	3	4	3	3	5	6	38	5	3	4	4	5	4	3	3	6	37	75
RD 3 (JBB)	4	4	5	3	5	4	3	5	4	37	6	3	4	4	4	4	2	3	4	34	71
RD 2 (JBB)	4	4	4	3	4	5	3	5	4	36	4	3	4	4	4	4	2	4	5	34	70
RD 1 (JBB)	4	4	5	3	5	4	3	5	4	37	4	4	4	6	5	4	3	3	5	38	75

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yuka Saso (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	5	4	3	4	5	38	5	2	5	5	5	3	3	3	4	35	73
RD 3 (JBB)	3	3	4	3	4	4	3	5	4	33	4	2	6	4	4	5	3	4	6	38	71
RD 2 (JBB)	4	4	5	3	4	4	3	5	4	36	4	3	4	5	4	4	4	3	5	36	72
RD 1 (JBB)	4	4	5	3	5	4	3	4	4	36	5	3	5	5	5	4	3	4	5	39	75

Albane Valenzuela (+3)

AFTER ROUND 4 - TOTAL SCORE: 291

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	4	5	3	4	4	36	4	3	5	4	5	4	3	5	5	38	74
RD 3 (JBB)	5	4	5	3	5	3	4	4	5	38	3	3	4	5	5	4	2	5	5	36	74
RD 2 (JBB)	4	4	4	3	4	4	3	4	4	34	5	3	4	4	4	4	4	3	5	36	70
RD 1 (JBB)	4	4	6	3	4	4	3	4	4	36	4	3	6	4	5	4	3	4	4	37	73

Perrine Delacour (+4)

AFTER ROUND 4 - TOTAL SCORE: 292

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	4	5	3	4	5	4	37	4	3	5	4	4	4	2	5	5	36	73
RD 3 (JBB)	3	4	4	3	5	5	2	5	3	34	5	3	5	5	5	4	3	4	5	39	73
RD 2 (JBB)	4	4	5	3	4	4	3	5	4	36	5	3	5	4	4	3	3	5	5	37	73
RD 1 (JBB)	4	5	7	3	3	4	3	5	5	39	5	2	3	5	5	3	3	4	4	34	73

Frida Kinhult (+4)

AFTER ROUND 4 - TOTAL SCORE: 292

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	5	3	4	4	4	4	4	35	4	3	4	4	5	4	3	4	5	36	71
RD 3 (JBB)	4	4	5	3	5	4	3	5	4	37	3	3	5	5	6	4	3	8	6	43	80
RD 2 (JBB)	4	3	5	4	3	4	3	5	4	35	4	3	3	4	6	4	4	3	4	35	70
RD 1 (JBB)	4	4	5	3	4	4	4	4	4	36	5	3	4	3	5	3	3	4	5	35	71

Dongun Lee (+4)

AFTER ROUND 4 - TOTAL SCORE: 292

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	5	4	3	4	4	36	5	3	5	6	5	4	3	4	4	39	75
RD 3 (JBB)	3	4	5	3	4	5	3	5	4	36	6	3	3	4	5	4	3	4	4	36	72
RD 2 (JBB)	5	4	4	3	4	4	3	5	4	36	3	3	3	5	5	4	3	4	5	35	71
RD 1 (JBB)	4	5	5	3	5	4	4	5	3	38	5	3	5	4	4	3	4	3	5	36	74

Jasmine Suwannapura (+4)

AFTER ROUND 4 - TOTAL SCORE: 292

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	4	3	6	5	37	5	3	5	4	5	4	3	4	5	38	75
RD 3 (JBB)	3	5	4	3	4	4	3	4	5	35	4	3	5	4	4	4	2	3	5	34	69
RD 2 (JBB)	3	5	5	3	4	4	3	5	4	36	4	3	4	5	5	4	3	4	5	37	73
RD 1 (JBB)	4	4	5	4	4	5	3	4	4	37	3	3	5	4	5	5	4	4	5	38	75

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Ana Belac (+5)

AFTER ROUND 4 - TOTAL SCORE: 293

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	6	4	4	4	2	5	3	36	4	3	5	4	6	4	3	5	6	40	76
RD 3 (JBB)	3	4	4	3	4	4	2	5	4	33	4	3	5	4	6	4	3	4	4	37	70
RD 2 (JBB)	4	5	4	4	4	4	3	4	4	36	4	3	4	4	5	3	3	5	6	37	73
RD 1 (JBB)	4	4	4	3	5	4	3	5	3	35	4	4	4	4	6	4	3	5	5	39	74

Linnea Strom (+5)

AFTER ROUND 4 - TOTAL SCORE: 293

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	4	3	4	4	3	5	5	35	4	4	6	4	4	4	3	4	5	38	73
RD 3 (JBB)	4	4	5	3	5	5	2	5	5	38	4	3	5	4	5	5	3	4	5	38	76
RD 2 (JBB)	3	4	5	3	3	5	3	5	4	35	5	3	5	4	5	3	2	4	5	36	71
RD 1 (JBB)	4	3	5	3	3	4	3	6	4	35	4	3	4	4	6	5	3	4	5	38	73

Bailey Tardy (+5)

AFTER ROUND 4 - TOTAL SCORE: 293

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	2	3	6	3	5	6	38	4	4	4	4	4	4	3	6	5	38	76
RD 3 (JBB)	3	4	4	4	4	4	3	6	4	36	4	4	4	5	5	4	3	4	5	38	74
RD 2 (JBB)	4	4	5	4	3	4	2	3	4	33	4	3	4	4	4	4	3	5	5	36	69
RD 1 (JBB)	3	4	5	4	5	4	3	4	4	36	5	3	4	4	5	3	5	5	4	38	74

Chella Choi (+6)

AFTER ROUND 4 - TOTAL SCORE: 294

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	5	5	3	4	4	3	5	5	39	5	3	5	4	4	4	3	5	5	38	77
RD 3 (JBB)	3	4	4	3	4	4	4	5	4	35	5	2	4	4	5	5	4	5	4	38	73
RD 2 (JBB)	5	4	5	3	4	5	4	5	3	38	5	2	5	4	5	4	3	4	4	36	74
RD 1 (JBB)	5	4	5	3	4	5	3	5	4	38	4	3	4	4	4	3	3	3	4	32	70

Ruixin Liu (+6)

AFTER ROUND 4 - TOTAL SCORE: 294

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	4	4	2	5	3	35	6	3	5	4	5	4	2	5	5	39	74
RD 3 (JBB)	4	4	4	3	3	3	3	5	5	34	4	5	4	5	4	4	4	4	4	38	72
RD 2 (JBB)	4	5	4	3	5	5	3	4	4	37	4	4	5	6	5	4	4	3	5	40	77
RD 1 (JBB)	4	3	5	3	3	4	4	4	4	34	5	4	5	4	5	3	2	4	5	37	71

Chiara Tamburlini (+6)

AFTER ROUND 4 - TOTAL SCORE: 294

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	6	4	4	5	3	4	3	37	5	4	4	5	5	4	3	4	4	38	75
RD 3 (JBB)	3	4	5	3	4	4	3	5	4	35	4	4	4	5	4	4	3	3	5	36	71
RD 2 (JBB)	4	4	4	3	5	5	3	5	4	37	4	5	5	5	6	3	3	3	5	39	76
RD 1 (JBB)	5	4	4	4	4	5	2	4	4	36	4	3	4	4	4	6	3	4	4	36	72

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yana Wilson (+6)

AFTER ROUND 4 - TOTAL SCORE: 294

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	6	4	5	4	3	5	4	39	4	3	3	5	4	4	3	3	5	34	73
RD 3 (JBB)	3	4	6	3	4	4	4	5	4	37	4	3	4	4	6	5	4	4	5	39	76
RD 2 (JBB)	4	3	5	2	3	4	4	5	4	34	4	3	6	4	4	4	4	4	6	39	73
RD 1 (JBB)	3	4	5	4	5	3	3	5	4	36	4	3	5	4	5	4	2	3	6	36	72

Carolina Chacarra (+7)

AFTER ROUND 4 - TOTAL SCORE: 295

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	5	4	4	5	5	40	4	3	5	4	4	4	3	4	5	36	76
RD 3 (JBB)	4	4	5	3	5	5	3	6	4	39	5	3	4	5	6	4	3	4	5	39	78
RD 2 (JBB)	5	4	4	2	5	5	2	4	4	35	5	3	4	4	5	5	3	3	5	37	72
RD 1 (JBB)	3	5	5	3	4	4	2	5	4	35	4	3	5	4	4	4	3	3	4	34	69

Gemma Dryburgh (+7)

AFTER ROUND 4 - TOTAL SCORE: 295

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	4	4	3	5	4	36	5	4	4	4	5	5	3	4	5	39	75
RD 3 (JBB)	5	4	5	3	4	4	3	5	5	38	4	3	3	4	7	5	4	4	4	38	76
RD 2 (JBB)	4	4	5	3	4	5	3	5	4	37	4	3	5	4	5	3	3	3	6	36	73
RD 1 (JBB)	5	3	5	4	4	3	3	4	3	34	5	3	5	4	5	3	3	4	5	37	71

Soo Bin Joo (+7)

AFTER ROUND 4 - TOTAL SCORE: 295

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	6	4	3	4	3	36	5	3	4	4	4	4	3	3	5	35	71
RD 3 (JBB)	4	4	5	3	7	5	3	3	4	38	4	3	5	5	5	4	3	4	5	38	76
RD 2 (JBB)	5	4	4	3	4	4	3	4	4	35	5	3	4	4	5	5	3	4	6	39	74
RD 1 (JBB)	4	5	6	3	5	5	3	4	3	38	4	3	4	4	5	3	3	4	6	36	74

Xinen Lin (+7)

AFTER ROUND 4 - TOTAL SCORE: 295

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	4	3	4	4	3	5	5	37	4	3	4	4	5	4	4	4	5	37	74
RD 3 (JBB)	4	4	5	4	4	3	3	6	5	38	4	3	4	5	6	4	4	4	6	40	78
RD 2 (JBB)	3	4	5	3	4	4	3	5	4	35	5	4	4	4	5	4	2	4	5	37	72
RD 1 (JBB)	4	4	4	3	3	3	3	4	5	33	5	4	4	4	5	4	3	4	5	38	71

Wanyao Lu (+7)

AFTER ROUND 4 - TOTAL SCORE: 295

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	6	2	5	5	3	5	5	38	4	3	5	5	6	4	3	3	4	37	75
RD 3 (JBB)	3	5	5	3	5	5	4	5	4	39	4	3	4	3	5	5	3	5	4	36	75
RD 2 (JBB)	4	4	4	4	4	5	3	5	4	37	4	3	5	4	4	5	3	4	4	36	73
RD 1 (JBB)	4	4	5	3	4	3	3	5	4	35	5	3	4	5	5	4	3	3	5	37	72

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Nastasia Nadaud (+7)		AFTER ROUND 4 - TOTAL SCORE: 295																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	4	3	4	4	4	4	5	36	5	3	5	4	5	6	2	4	4	38	74
RD 3 (JBB)	3	3	5	3	3	4	3	6	4	34	4	3	4	7	5	4	3	4	6	40	74
RD 2 (JBB)	3	4	5	3	5	4	3	5	4	36	4	3	5	4	5	4	2	3	7	37	73
RD 1 (JBB)	4	4	5	2	3	5	3	4	4	34	5	3	4	5	5	4	3	5	6	40	74
Cocona Sakurai (+7)		AFTER ROUND 4 - TOTAL SCORE: 295																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	5	4	3	6	4	3	5	4	39	4	4	5	4	5	3	3	4	5	37	76
RD 3 (JBB)	4	5	6	3	4	4	3	4	5	38	5	3	5	5	4	4	3	3	6	38	76
RD 2 (JBB)	3	5	6	4	4	4	3	4	4	37	6	3	4	4	5	4	2	3	4	35	72
RD 1 (JBB)	4	4	4	3	4	4	4	4	4	35	4	3	4	5	4	4	3	4	5	36	71
Hinako Shibuno (+7)		AFTER ROUND 4 - TOTAL SCORE: 295																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	6	4	3	6	4	4	5	5	41	5	4	6	4	5	5	3	3	5	40	81
RD 3 (JBB)	3	4	5	3	4	4	3	5	4	35	5	3	4	4	4	3	5	3	4	35	70
RD 2 (JBB)	5	4	4	2	5	3	3	5	4	35	5	3	5	3	5	3	3	3	5	35	70
RD 1 (JBB)	4	4	4	3	4	4	3	5	5	36	4	3	5	4	5	3	3	4	7	38	74
Zixuan Wang (+7)		AFTER ROUND 4 - TOTAL SCORE: 295																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	4	3	4	5	3	5	4	35	5	3	5	4	5	4	3	5	5	39	74
RD 3 (JBB)	4	4	4	3	4	5	2	4	5	35	4	3	4	4	5	5	3	4	6	38	73
RD 2 (JBB)	4	4	5	2	4	4	3	5	4	35	5	3	6	5	5	4	5	4	5	42	77
RD 1 (JBB)	4	4	5	4	5	5	4	4	4	39	5	3	4	3	4	4	2	3	4	32	71
Dewi Weber (+7)		AFTER ROUND 4 - TOTAL SCORE: 295																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	6	4	3	4	4	37	5	3	4	4	6	7	2	6	4	41	78
RD 3 (JBB)	3	3	4	3	5	6	3	5	4	36	4	4	4	5	4	4	3	4	5	37	73
RD 2 (JBB)	5	4	4	5	4	4	3	4	4	37	4	3	5	4	6	4	2	4	4	36	73
RD 1 (JBB)	4	5	5	3	4	4	3	5	3	36	4	3	3	4	4	4	4	4	5	35	71
Briana Chacon (+8)		AFTER ROUND 4 - TOTAL SCORE: 296																			
HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	5	5	4	5	4	3	6	4	41	5	4	5	4	5	4	3	4	5	39	80
RD 3 (JBB)	3	3	5	3	4	4	4	4	4	34	4	4	4	4	4	4	3	3	6	36	70
RD 2 (JBB)	5	5	4	3	4	4	3	4	5	37	4	3	5	4	6	4	3	3	5	37	74
RD 1 (JBB)	4	4	5	3	3	4	4	4	4	35	5	3	4	4	4	4	4	3	6	37	72

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Ssu-Chia Cheng (+8)

AFTER ROUND 4 - TOTAL SCORE: 296

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	5	3	3	5	4	36	4	3	4	4	6	4	4	4	6	39	75
RD 3 (JBB)	3	4	5	3	5	4	3	5	4	36	4	3	4	5	4	5	4	4	5	38	74
RD 2 (JBB)	5	4	4	3	4	4	3	5	4	36	5	3	5	4	4	3	2	4	5	35	71
RD 1 (JBB)	4	4	6	4	5	5	3	4	3	38	4	3	5	5	5	4	3	4	5	38	76

Jodi Ewart Shadoff (+8)

AFTER ROUND 4 - TOTAL SCORE: 296

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	3	4	5	3	4	5	3	5	4	36	4	4	4	5	4	3	2	4	5	35	71
RD 3 (JBB)	3	5	4	3	6	4	3	6	4	38	3	3	5	5	5	6	3	4	6	40	78
RD 2 (JBB)	4	5	5	4	4	4	3	4	4	37	5	3	4	4	4	3	3	5	4	35	72
RD 1 (JBB)	5	4	5	4	3	4	3	4	4	36	5	4	5	4	5	4	3	4	5	39	75

Emma McMyler (+8)

AFTER ROUND 4 - TOTAL SCORE: 296

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	4	5	4	3	5	4	39	4	4	6	4	6	3	3	5	5	40	79
RD 3 (JBB)	4	4	5	2	5	4	3	5	5	37	5	4	3	5	5	3	3	4	6	38	75
RD 2 (JBB)	4	4	4	3	4	4	3	5	4	35	4	2	5	5	5	4	4	5	5	39	74
RD 1 (JBB)	3	3	5	3	3	3	3	4	4	31	6	2	5	4	4	4	3	4	5	37	68

Zining An (+9)

AFTER ROUND 4 - TOTAL SCORE: 297

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	6	4	4	4	3	37	4	5	6	4	6	4	3	4	4	40	77
RD 3 (JBB)	4	4	6	3	5	4	4	5	4	39	4	3	4	4	7	4	3	5	5	39	78
RD 2 (JBB)	4	6	4	3	3	4	3	6	4	37	4	3	5	4	5	4	3	5	5	38	75
RD 1 (JBB)	3	4	5	3	3	4	3	5	3	33	5	3	4	4	3	4	3	3	5	34	67

Melanie Green (+9)

AFTER ROUND 4 - TOTAL SCORE: 297

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	6	5	4	5	4	3	4	4	40	4	4	5	6	5	4	3	3	5	39	79
RD 3 (JBB)	4	3	5	3	4	5	3	4	4	35	5	3	4	4	4	4	3	3	6	36	71
RD 2 (JBB)	3	5	5	3	4	4	3	5	5	37	4	4	4	4	4	5	3	3	6	37	74
RD 1 (JBB)	8	4	5	4	4	4	2	4	5	40	5	2	4	4	4	4	3	3	4	33	73

Qianhui Lin (+9)

AFTER ROUND 4 - TOTAL SCORE: 297

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	4	4	4	4	37	5	3	5	5	5	4	3	5	5	40	77
RD 3 (JBB)	3	4	5	3	4	5	3	4	3	34	5	3	4	5	5	4	3	4	5	38	72
RD 2 (JBB)	4	5	4	4	5	4	3	5	4	38	4	4	4	4	5	6	3	3	5	38	76
RD 1 (JBB)	5	4	5	4	5	3	2	5	4	37	4	3	3	5	4	4	3	3	6	35	72

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Laetitia Beck (+10)

AFTER ROUND 4 - TOTAL SCORE: 298

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	5	5	3	6	5	41	4	4	4	5	5	5	3	3	6	39	80
RD 3 (JBB)	4	4	5	3	4	5	3	5	5	38	4	3	3	5	4	5	3	4	5	36	74
RD 2 (JBB)	3	5	4	3	5	4	3	5	3	35	4	3	5	4	6	4	2	4	5	37	72
RD 1 (JBB)	4	5	4	3	5	4	3	4	4	36	5	3	4	4	5	4	3	3	5	36	72

Xiang Sui (+10)

AFTER ROUND 4 - TOTAL SCORE: 298

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	5	4	5	4	2	5	4	38	5	3	5	4	5	4	3	3	5	37	75
RD 3 (JBB)	5	4	5	3	5	4	3	4	4	37	5	3	5	5	5	4	3	4	6	40	77
RD 2 (JBB)	5	4	5	3	5	4	3	5	4	38	4	3	5	4	5	4	2	3	4	34	72
RD 1 (JBB)	5	4	4	4	5	4	3	5	3	37	5	4	4	4	5	4	2	4	5	37	74

Suvichaya Vinijchaitham (+10)

AFTER ROUND 4 - TOTAL SCORE: 298

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	4	4	5	4	38	4	4	5	4	5	6	2	4	5	39	77
RD 3 (JBB)	3	4	5	3	5	4	3	6	5	38	5	3	5	4	4	5	3	4	4	37	75
RD 2 (JBB)	5	4	5	3	4	4	3	4	4	36	5	3	4	4	5	3	3	3	5	35	71
RD 1 (JBB)	4	3	8	2	3	4	3	5	4	36	7	3	4	5	5	4	2	5	4	39	75

Gina Kim (+12)

AFTER ROUND 4 - TOTAL SCORE: 300

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	5	3	4	4	3	5	5	38	4	4	4	4	5	6	4	5	5	41	79
RD 3 (JBB)	3	4	5	3	4	4	4	5	4	36	5	2	3	5	5	4	3	5	5	37	73
RD 2 (JBB)	3	5	6	3	4	4	3	6	4	38	6	2	4	6	4	4	2	5	5	38	76
RD 1 (JBB)	3	4	5	3	4	5	3	5	4	36	4	2	4	5	5	4	4	4	4	36	72

Celine Borge (+13)

AFTER ROUND 4 - TOTAL SCORE: 301

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	6	3	5	5	3	5	4	40	5	3	6	4	5	4	3	4	5	39	79
RD 3 (JBB)	3	4	4	3	4	4	3	5	4	34	4	3	5	4	5	4	4	5	6	40	74
RD 2 (JBB)	4	5	5	3	3	4	2	5	3	34	5	3	4	5	5	4	4	5	5	40	74
RD 1 (JBB)	4	5	5	3	5	4	3	4	4	37	4	3	4	5	6	4	3	4	4	37	74

Minji Kang (+13)

AFTER ROUND 4 - TOTAL SCORE: 301

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	4	6	4	3	5	5	40	4	3	4	5	5	3	3	4	5	36	76
RD 3 (JBB)	6	5	5	3	5	4	3	4	5	40	5	4	4	5	4	4	3	5	5	39	79
RD 2 (JBB)	4	5	5	3	5	5	4	5	4	40	4	4	4	3	4	4	3	3	5	34	74
RD 1 (JBB)	4	3	4	3	5	5	3	6	4	37	4	3	3	4	5	4	3	4	5	35	72

SCORECARD SUMMARY - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Shuying Li (+15)

AFTER ROUND 4 - TOTAL SCORE: 303

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	5	4	3	5	4	3	5	5	38	7	3	5	6	5	4	3	5	5	43	81
RD 3 (JBB)	4	4	5	3	5	4	3	4	5	37	4	3	4	5	5	5	3	4	5	38	75
RD 2 (JBB)	5	4	4	3	4	4	2	5	4	35	6	3	6	3	5	4	3	4	4	38	73
RD 1 (JBB)	4	4	5	4	3	5	3	6	3	37	4	3	5	4	5	4	2	4	6	37	74

Arpichaya Yubol (+15)

AFTER ROUND 4 - TOTAL SCORE: 303

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	5	4	5	2	5	5	3	5	4	38	4	4	5	5	5	6	3	5	5	42	80
RD 3 (JBB)	3	4	4	3	6	4	2	5	5	36	5	4	4	4	4	5	3	5	5	39	75
RD 2 (JBB)	4	3	4	2	5	4	4	4	5	35	5	4	4	5	4	4	3	3	4	36	71
RD 1 (JBB)	4	5	5	3	5	5	3	4	7	41	4	3	3	4	5	4	4	3	6	36	77

Lauren Walsh (+16)

AFTER ROUND 4 - TOTAL SCORE: 304

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 4 (JBB)	4	4	5	3	5	4	3	6	4	38	4	4	5	4	5	3	3	5	5	38	76
RD 3 (JBB)	5	5	6	3	4	4	3	4	5	39	6	4	5	5	6	4	2	4	5	41	80
RD 2 (JBB)	4	5	5	4	5	4	3	4	4	38	4	3	5	4	6	4	4	4	5	39	77
RD 1 (JBB)	5	4	5	3	5	3	3	5	3	36	4	3	5	4	4	3	3	3	6	35	71

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mi Hyang Lee (-11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	11 / 18 (0.611)	0 / 1 (0.000)	(242.5)	25	17 / 1.55	0	67	-5
2	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(274.0)	25	19 / 1.58	0	66	-6
3	JBB	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(262.5)	28	21 / 1.62	2	71	-1
4	JBB	7 / 14 (0.500)	11 / 18 (0.611)	0 / 0 (0.000)	(276.5)	27	17 / 1.55	0	73	+1
TOTAL:		30 / 56 (0.536)	47 / 72 (0.653)	0 / 1 (0.000)	(263.9)	105	74 / 1.57	2	277	-11

Weiwei Zhang (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(274.5)	22	14 / 1.56	0	66	-6
2	JBB	7 / 14 (0.500)	11 / 18 (0.611)	0 / 0 (0.000)	(275.0)	27	18 / 1.64	0	71	-1
3	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(272.5)	27	18 / 1.64	0	72	E
4	JBB	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(265.5)	30	23 / 1.77	2	69	-3
TOTAL:		36 / 56 (0.643)	44 / 72 (0.611)	0 / 0 (0.000)	(271.9)	106	73 / 1.66	2	278	-10

Auston Kim (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(301.0)	30	26 / 1.63	2	67	-5
2	JBB	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(332.0)	25	16 / 1.60	0	68	-4
3	JBB	12 / 14 (0.857)	10 / 18 (0.556)	1 / 1 (1.000)	(293.0)	31	22 / 2.20	2	74	+2
4	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(285.0)	30	21 / 1.75	0	71	-1
TOTAL:		40 / 56 (0.714)	48 / 72 (0.667)	1 / 1 (1.000)	(302.8)	116	85 / 1.77	4	280	-8

Aditi Ashok (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(230.0)	25	21 / 1.62	1	68	-4
2	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(265.5)	26	19 / 1.73	0	70	-2
3	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 0 (0.000)	(268.5)	25	14 / 1.56	1	70	-2
4	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(253.5)	27	15 / 1.67	0	72	E
TOTAL:		43 / 56 (0.768)	42 / 72 (0.583)	0 / 0 (0.000)	(254.4)	103	69 / 1.64	2	280	-8

Rio Takeda (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	7 / 18 (0.389)	0 / 0 (0.000)	(284.0)	27	12 / 1.71	0	71	-1
2	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(284.5)	28	16 / 1.45	0	70	-2
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	67	-5
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
TOTAL:		17 / 56 (0.304)	18 / 72 (0.250)	0 / 0 (0.000)	(284.3)	55	28 / 1.56	0	281	-7

A Lim Kim (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(267.5)	31	27 / 1.80	0	70	-2
2	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(276.0)	28	24 / 1.71	0	67	-5
3	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(265.0)	26	17 / 1.70	0	71	-1
4	JBB	5 / 14 (0.357)	10 / 18 (0.556)	1 / 2 (0.500)	(262.5)	28	17 / 1.70	0	73	+1
TOTAL:		35 / 56 (0.625)	49 / 72 (0.681)	1 / 2 (0.500)	(267.8)	113	85 / 1.73	0	281	-7

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Hye-Jin Choi (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(267.0)	32	26 / 1.86	0	71	-1
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(265.5)	27	21 / 1.75	1	68	-4
3	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(252.5)	26	19 / 1.58	0	68	-4
4	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 1 (0.000)	(282.5)	31	19 / 2.11	2	74	+2
TOTAL:		38 / 56 (0.679)	47 / 72 (0.653)	0 / 1 (0.000)	(266.9)	116	85 / 1.81	3	281	-7

Yu Liu (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(285.0)	29	25 / 1.79	1	68	-4
2	JBB	8 / 14 (0.571)	14 / 18 (0.778)	1 / 1 (1.000)	(280.0)	26	22 / 1.57	1	66	-6
3	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(243.5)	27	14 / 1.75	0	73	+1
4	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(255.0)	31	21 / 2.10	1	74	+2
TOTAL:		33 / 56 (0.589)	46 / 72 (0.639)	1 / 1 (1.000)	(265.9)	113	82 / 1.78	3	281	-7

Jenny Bae (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	10 / 18 (0.556)	0 / 0 (0.000)	(272.5)	28	18 / 1.80	0	70	-2
2	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(262.5)	27	16 / 1.60	1	71	-1
3	JBB	7 / 14 (0.500)	9 / 18 (0.500)	0 / 0 (0.000)	(281.5)	26	17 / 1.89	1	71	-1
4	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(305.5)	27	17 / 1.70	0	71	-1
TOTAL:		27 / 56 (0.482)	39 / 72 (0.542)	0 / 0 (0.000)	(280.5)	108	68 / 1.74	2	283	-5

Erika Hara (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1
2	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(0.0)	28	17 / 1.70	1	71	-1
3	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(275.5)	28	18 / 1.80	1	71	-1
4	JBB	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(263.0)	29	22 / 1.83	0	71	-1
TOTAL:		26 / 56 (0.464)	32 / 72 (0.444)	0 / 0 (0.000)	(269.3)	85	57 / 1.78	2	284	-4

Lucy Li (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(275.0)	29	20 / 1.82	0	71	-1
2	JBB	7 / 14 (0.500)	11 / 18 (0.611)	0 / 0 (0.000)	(0.0)	29	20 / 1.82	2	72	E
3	JBB	11 / 14 (0.786)	11 / 18 (0.611)	0 / 0 (0.000)	(264.5)	24	17 / 1.55	0	67	-5
4	JBB	13 / 14 (0.929)	0 / 18 (0.000)	0 / 0 (0.000)	(260.0)	30	0 / 0	2	74	+2
TOTAL:		40 / 56 (0.714)	33 / 72 (0.458)	0 / 0 (0.000)	(266.5)	112	57 / 1.73	4	284	-4

Yujie Liu (a) * (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	70	-2
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	70	-2
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	285	-3

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Esther Henseleit (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(266.5)	28	21 / 1.62	0	68	-4
2	JBB	10 / 14 (0.714)	10 / 18 (0.556)	1 / 2 (0.500)	(257.0)	26	16 / 1.60	0	71	-1
3	JBB	10 / 14 (0.714)	8 / 18 (0.444)	0 / 0 (0.000)	(276.5)	28	16 / 2.00	3	74	+2
4	JBB	11 / 14 (0.786)	11 / 18 (0.611)	0 / 0 (0.000)	(256.0)	28	19 / 1.73	1	72	E
TOTAL:		42 / 56 (0.750)	42 / 72 (0.583)	1 / 2 (0.500)	(264.0)	110	72 / 1.71	4	285	-3

Yan Liu (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(278.5)	26	17 / 1.70	2	70	-2
2	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(276.0)	31	24 / 2.00	1	73	+1
3	JBB	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(277.5)	27	21 / 1.62	1	68	-4
4	JBB	12 / 14 (0.857)	8 / 18 (0.444)	0 / 0 (0.000)	(265.0)	27	14 / 1.75	2	74	+2
TOTAL:		38 / 56 (0.679)	43 / 72 (0.597)	0 / 0 (0.000)	(274.3)	111	76 / 1.77	6	285	-3

Erica Shepherd (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	12 / 18 (0.667)	1 / 1 (1.000)	(265.0)	29	23 / 1.92	1	73	+1
2	JBB	5 / 14 (0.357)	8 / 18 (0.444)	0 / 0 (0.000)	(270.0)	25	13 / 1.63	0	72	E
3	JBB	6 / 14 (0.429)	11 / 18 (0.611)	0 / 0 (0.000)	(263.5)	27	20 / 1.82	0	70	-2
4	JBB	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(295.0)	28	20 / 1.67	0	71	-1
TOTAL:		27 / 56 (0.482)	43 / 72 (0.597)	1 / 1 (1.000)	(273.4)	109	76 / 1.77	1	286	-2

Ayaka Furue (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	13 / 18 (0.722)	1 / 1 (1.000)	(265.0)	27	22 / 1.69	0	68	-4
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	1 / 1 (1.000)	(282.5)	26	19 / 1.58	0	69	-3
3	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(257.5)	30	20 / 2.00	1	76	+4
4	JBB	10 / 14 (0.714)	13 / 18 (0.722)	0 / 0 (0.000)	(252.5)	32	26 / 2.00	1	73	+1
TOTAL:		36 / 56 (0.643)	48 / 72 (0.667)	2 / 2 (1.000)	(264.4)	115	87 / 1.81	2	286	-2

Lindy Duncan (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(260.5)	28	23 / 1.77	0	69	-3
2	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(292.5)	29	19 / 1.90	0	73	+1
3	JBB	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(256.0)	26	16 / 1.60	1	70	-2
4	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(282.5)	28	15 / 1.88	0	74	+2
TOTAL:		39 / 56 (0.696)	41 / 72 (0.569)	0 / 1 (0.000)	(272.9)	111	73 / 1.78	1	286	-2

Jenny Shin (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	1 / 2 (0.500)	(240.0)	26	14 / 1.56	0	71	-1
2	JBB	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(243.0)	29	24 / 1.85	0	70	-2
3	JBB	14 / 14 (1.000)	9 / 18 (0.500)	0 / 0 (0.000)	(245.0)	28	16 / 1.78	0	74	+2
4	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(252.5)	29	19 / 1.90	0	72	E
TOTAL:		40 / 56 (0.714)	41 / 72 (0.569)	1 / 2 (0.500)	(245.1)	112	73 / 1.78	0	287	-1

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mary Liu (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(249.0)	25	21 / 1.62	0	66	-6
2	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(254.0)	25	12 / 1.71	0	72	E
3	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(241.0)	29	13 / 1.63	2	77	+5
4	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(299.5)	27	16 / 1.60	1	72	E
TOTAL:		39 / 56 (0.696)	38 / 72 (0.528)	0 / 0 (0.000)	(260.9)	106	62 / 1.63	3	287	-1

Alexa Pano (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(275.0)	31	24 / 1.71	1	71	-1
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 1 (0.000)	(322.5)	26	19 / 1.58	1	69	-3
3	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(262.5)	27	19 / 1.73	1	73	+1
4	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 1 (0.000)	(296.5)	31	20 / 1.82	0	74	+2
TOTAL:		38 / 56 (0.679)	48 / 72 (0.667)	0 / 2 (0.000)	(289.1)	115	82 / 1.71	3	287	-1

Leona Maguire (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 1 (0.000)	(254.5)	26	18 / 1.64	1	69	-3
2	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(275.5)	30	21 / 1.91	1	73	+1
3	JBB	8 / 14 (0.571)	13 / 18 (0.722)	1 / 1 (1.000)	(237.0)	27	21 / 1.62	0	69	-3
4	JBB	8 / 14 (0.571)	7 / 18 (0.389)	1 / 1 (1.000)	(253.0)	26	13 / 1.86	0	76	+4
TOTAL:		33 / 56 (0.589)	42 / 72 (0.583)	2 / 3 (0.667)	(255.0)	109	73 / 1.74	2	287	-1

Youmin Hwang (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(250.0)	25	21 / 1.62	0	66	-6
2	JBB	3 / 14 (0.214)	12 / 18 (0.667)	1 / 1 (1.000)	(255.0)	30	21 / 1.75	2	72	E
3	JBB	4 / 14 (0.286)	11 / 18 (0.611)	0 / 0 (0.000)	(270.0)	30	20 / 1.82	0	73	+1
4	JBB	3 / 14 (0.214)	8 / 18 (0.444)	2 / 3 (0.667)	(277.5)	30	14 / 1.75	2	76	+4
TOTAL:		17 / 56 (0.304)	44 / 72 (0.611)	3 / 4 (0.750)	(263.1)	115	76 / 1.73	4	287	-1

Shiyuan Zhou (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	69	-3
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	288	E

Jing Yan (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	10 / 18 (0.556)	0 / 0 (0.000)	(270.0)	29	17 / 1.70	0	73	+1
2	JBB	6 / 14 (0.429)	10 / 18 (0.556)	0 / 0 (0.000)	(269.0)	27	18 / 1.80	0	71	-1
3	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(281.5)	31	24 / 2.00	1	72	E
4	JBB	6 / 14 (0.429)	11 / 18 (0.611)	0 / 0 (0.000)	(280.0)	28	21 / 1.91	1	73	+1
TOTAL:		27 / 56 (0.482)	43 / 72 (0.597)	0 / 0 (0.000)	(275.1)	115	80 / 1.86	2	289	+1

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Robyn Choi (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(250.0)	33	30 / 2.00	2	71	-1
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(260.0)	28	22 / 1.83	0	70	-2
3	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(268.5)	26	14 / 1.56	0	72	E
4	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(260.0)	31	18 / 2.00	0	76	+4
TOTAL:		37 / 56 (0.661)	45 / 72 (0.625)	0 / 0 (0.000)	(259.6)	118	84 / 1.87	2	289	+1

Ruoning Yin (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	13 / 18 (0.722)	0 / 1 (0.000)	(273.0)	28	22 / 1.69	0	68	-4
2	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(263.0)	27	20 / 1.82	0	71	-1
3	JBB	13 / 14 (0.929)	11 / 18 (0.611)	0 / 0 (0.000)	(253.5)	29	20 / 1.82	1	74	+2
4	JBB	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(287.0)	33	23 / 1.92	1	76	+4
TOTAL:		46 / 56 (0.821)	47 / 72 (0.653)	0 / 1 (0.000)	(269.1)	117	85 / 1.81	2	289	+1

Pornanong Phatlum (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(252.0)	26	19 / 1.58	0	68	-4
2	JBB	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(265.5)	31	26 / 1.86	1	70	-2
3	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(238.5)	31	21 / 1.91	1	75	+3
4	JBB	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(277.0)	30	18 / 1.80	1	76	+4
TOTAL:		40 / 56 (0.714)	47 / 72 (0.653)	0 / 0 (0.000)	(258.3)	118	84 / 1.79	3	289	+1

Chanettee Wannasaen (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	14 / 14 (1.000)	11 / 18 (0.611)	0 / 1 (0.000)	(292.5)	26	18 / 1.64	1	69	-3
2	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(278.0)	34	23 / 2.30	4	79	+7
3	JBB	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(259.0)	31	22 / 1.83	0	73	+1
4	JBB	12 / 14 (0.857)	6 / 18 (0.333)	0 / 0 (0.000)	(250.0)	22	10 / 1.67	0	69	-3
TOTAL:		46 / 56 (0.821)	39 / 72 (0.542)	0 / 1 (0.000)	(269.9)	113	73 / 1.87	5	290	+2

Peiyun Chien (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	8 / 18 (0.444)	0 / 0 (0.000)	(255.0)	27	16 / 2.00	0	73	+1
2	JBB	7 / 14 (0.500)	5 / 18 (0.278)	0 / 0 (0.000)	(274.0)	23	8 / 1.60	0	74	+2
3	JBB	6 / 14 (0.429)	11 / 18 (0.611)	1 / 1 (1.000)	(265.0)	28	17 / 1.55	0	71	-1
4	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(260.0)	25	14 / 1.56	0	72	E
TOTAL:		30 / 56 (0.536)	33 / 72 (0.458)	1 / 1 (1.000)	(263.5)	103	55 / 1.67	0	290	+2

Laney Frye (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(280.0)	32	25 / 1.92	1	74	+2
2	JBB	7 / 14 (0.500)	9 / 18 (0.500)	0 / 0 (0.000)	(280.0)	26	14 / 1.56	0	71	-1
3	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(280.0)	25	11 / 1.57	0	73	+1
4	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(250.0)	25	15 / 1.67	1	72	E
TOTAL:		32 / 56 (0.571)	38 / 72 (0.528)	0 / 0 (0.000)	(272.5)	108	65 / 1.71	2	290	+2

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Ying Xu (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	7 / 18 (0.389)	0 / 0 (0.000)	(250.0)	22	9 / 1.29	0	69	-3
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
TOTAL:		0 / 56 (0.000)	7 / 72 (0.097)	0 / 0 (0.000)	(250.0)	22	9 / 1.29	0	290	+2

Muni He * (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(285.0)	30	24 / 2.00	0	71	-1
2	JBB	9 / 14 (0.643)	8 / 18 (0.444)	0 / 0 (0.000)	(267.5)	21	12 / 1.50	0	69	-3
3	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(251.0)	28	18 / 1.50	0	70	-2
4	JBB	9 / 14 (0.643)	4 / 18 (0.222)	0 / 1 (0.000)	(260.0)	27	8 / 2.00	0	80	+8
TOTAL:		34 / 56 (0.607)	36 / 72 (0.500)	0 / 1 (0.000)	(265.9)	106	62 / 1.72	0	290	+2

Wei-Ling Hsu (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(277.0)	28	21 / 1.75	1	70	-2
2	JBB	6 / 14 (0.429)	9 / 18 (0.500)	0 / 0 (0.000)	(252.5)	29	18 / 2.00	1	78	+6
3	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(251.0)	28	20 / 1.67	0	71	-1
4	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(246.0)	29	17 / 1.70	1	72	E
TOTAL:		34 / 56 (0.607)	43 / 72 (0.597)	0 / 0 (0.000)	(256.6)	114	76 / 1.77	3	291	+3

Yuna Nishimura (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	7 / 18 (0.389)	0 / 1 (0.000)	(255.0)	29	13 / 1.86	0	77	+5
2	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(282.5)	24	14 / 1.56	1	69	-3
3	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(241.0)	30	20 / 1.82	0	73	+1
4	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(246.5)	27	16 / 1.60	0	72	E
TOTAL:		43 / 56 (0.768)	37 / 72 (0.514)	0 / 1 (0.000)	(256.3)	110	63 / 1.70	1	291	+3

Yuka Saso (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	8 / 18 (0.444)	0 / 0 (0.000)	(252.0)	30	17 / 2.13	1	75	+3
2	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(253.0)	30	22 / 1.83	0	72	E
3	JBB	9 / 14 (0.643)	0 / 18 (0.000)	0 / 0 (0.000)	(269.5)	0	0 / 0	0	71	-1
4	JBB	5 / 14 (0.357)	9 / 18 (0.500)	1 / 1 (1.000)	(262.0)	27	14 / 1.56	0	73	+1
TOTAL:		29 / 56 (0.518)	29 / 72 (0.403)	1 / 1 (1.000)	(259.1)	87	53 / 1.83	1	291	+3

Albane Valenzuela (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(276.0)	27	14 / 1.75	1	73	+1
2	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(244.0)	27	18 / 1.64	0	70	-2
3	JBB	7 / 14 (0.500)	11 / 18 (0.611)	0 / 0 (0.000)	(242.5)	29	21 / 1.91	2	74	+2
4	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(235.0)	28	19 / 2.11	1	74	+2
TOTAL:		33 / 56 (0.589)	39 / 72 (0.542)	0 / 0 (0.000)	(249.4)	111	72 / 1.85	4	291	+3

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mimi Rhodes (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 1 (0.000)	(260.0)	34	27 / 1.93	0	75	+3
2	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(255.0)	22	11 / 1.57	0	70	-2
3	JBB	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(250.0)	30	24 / 1.71	0	71	-1
4	JBB	5 / 14 (0.357)	9 / 18 (0.500)	1 / 2 (0.500)	(255.0)	28	15 / 1.67	0	75	+3
TOTAL:		33 / 56 (0.589)	44 / 72 (0.611)	1 / 3 (0.333)	(255.0)	114	77 / 1.75	0	291	+3

Yuai Ji (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	66	-6
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	78	+6
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	291	+3

Frida Kinhult (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(260.0)	27	18 / 1.80	1	71	-1
2	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(245.0)	27	19 / 1.58	0	70	-2
3	JBB	7 / 14 (0.500)	6 / 18 (0.333)	0 / 0 (0.000)	(256.5)	28	12 / 2.00	2	80	+8
4	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(249.0)	25	14 / 1.75	0	71	-1
TOTAL:		35 / 56 (0.625)	36 / 72 (0.500)	0 / 0 (0.000)	(252.6)	107	63 / 1.75	3	292	+4

Perrine Delacour (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 1 (0.000)	(285.0)	27	19 / 1.58	0	73	+1
2	JBB	11 / 14 (0.786)	9 / 18 (0.500)	0 / 0 (0.000)	(277.5)	27	16 / 1.78	0	73	+1
3	JBB	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(260.0)	31	22 / 1.69	0	73	+1
4	JBB	9 / 14 (0.643)	13 / 18 (0.722)	0 / 0 (0.000)	(285.0)	33	25 / 1.92	2	73	+1
TOTAL:		36 / 56 (0.643)	47 / 72 (0.653)	0 / 1 (0.000)	(276.9)	118	82 / 1.74	2	292	+4

Jasmine Suwannapura (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	9 / 18 (0.500)	0 / 0 (0.000)	(275.0)	31	18 / 2.00	1	75	+3
2	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(270.0)	29	19 / 1.90	0	73	+1
3	JBB	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(252.5)	29	24 / 1.71	1	69	-3
4	JBB	9 / 14 (0.643)	8 / 18 (0.444)	0 / 0 (0.000)	(259.0)	29	16 / 2.00	0	75	+3
TOTAL:		36 / 56 (0.643)	41 / 72 (0.569)	0 / 0 (0.000)	(264.1)	118	77 / 1.88	2	292	+4

Dongeon Lee (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(252.5)	32	23 / 1.92	2	74	+2
2	JBB	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(257.0)	28	21 / 1.75	0	71	-1
3	JBB	11 / 14 (0.786)	14 / 18 (0.778)	1 / 1 (1.000)	(255.0)	31	25 / 1.79	0	72	E
4	JBB	6 / 14 (0.429)	11 / 18 (0.611)	0 / 1 (0.000)	(240.0)	32	20 / 1.82	2	75	+3
TOTAL:		36 / 56 (0.643)	49 / 72 (0.681)	1 / 2 (0.500)	(251.1)	123	89 / 1.82	4	292	+4

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Linnea Strom (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(252.5)	29	18 / 1.80	0	73	+1
2	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(297.5)	24	12 / 1.71	0	71	-1
3	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(265.0)	32	19 / 1.90	0	76	+4
4	JBB	6 / 14 (0.429)	6 / 18 (0.333)	0 / 0 (0.000)	(252.5)	25	9 / 1.50	1	73	+1
TOTAL:		33 / 56 (0.589)	33 / 72 (0.458)	0 / 0 (0.000)	(266.9)	110	58 / 1.76	1	293	+5

Ana Belac (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	11 / 18 (0.611)	1 / 1 (1.000)	(269.5)	32	22 / 2.00	2	74	+2
2	JBB	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(290.0)	31	25 / 1.92	2	73	+1
3	JBB	7 / 14 (0.500)	12 / 18 (0.667)	0 / 1 (0.000)	(270.0)	28	20 / 1.67	0	70	-2
4	JBB	7 / 14 (0.500)	9 / 18 (0.500)	0 / 0 (0.000)	(297.5)	30	17 / 1.89	1	76	+4
TOTAL:		31 / 56 (0.554)	45 / 72 (0.625)	1 / 2 (0.500)	(281.8)	121	84 / 1.87	5	293	+5

Bailey Tardy (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(267.5)	29	18 / 1.64	0	74	+2
2	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(300.0)	29	23 / 1.92	1	69	-3
3	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(258.5)	32	25 / 2.08	3	74	+2
4	JBB	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(300.0)	30	17 / 1.70	1	76	+4
TOTAL:		39 / 56 (0.696)	45 / 72 (0.625)	0 / 0 (0.000)	(281.5)	120	83 / 1.84	5	293	+5

Yana Wilson (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	7 / 18 (0.389)	0 / 1 (0.000)	(280.0)	25	13 / 1.86	1	72	E
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
3	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(270.0)	29	13 / 1.86	0	76	+4
4	JBB	5 / 14 (0.357)	9 / 18 (0.500)	0 / 0 (0.000)	(288.0)	28	15 / 1.67	0	73	+1
TOTAL:		18 / 56 (0.321)	23 / 72 (0.319)	0 / 1 (0.000)	(279.3)	82	41 / 1.78	1	294	+6

Ruixin Liu (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(290.0)	27	20 / 1.67	1	71	-1
2	JBB	10 / 14 (0.714)	8 / 18 (0.444)	0 / 0 (0.000)	(268.5)	31	14 / 1.75	2	77	+5
3	JBB	11 / 14 (0.786)	11 / 18 (0.611)	0 / 1 (0.000)	(285.0)	28	17 / 1.55	0	72	E
4	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(285.0)	26	11 / 1.57	0	74	+2
TOTAL:		36 / 56 (0.643)	38 / 72 (0.528)	0 / 1 (0.000)	(282.1)	112	62 / 1.63	3	294	+6

Chiara Tamburlini (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 1 (0.000)	(279.0)	27	14 / 1.56	0	72	E
2	JBB	7 / 14 (0.500)	6 / 18 (0.333)	0 / 0 (0.000)	(275.0)	27	9 / 1.50	0	76	+4
3	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(240.0)	29	21 / 1.75	0	71	-1
4	JBB	10 / 14 (0.714)	7 / 18 (0.389)	0 / 0 (0.000)	(272.0)	28	12 / 1.71	0	75	+3
TOTAL:		34 / 56 (0.607)	34 / 72 (0.472)	0 / 1 (0.000)	(266.5)	111	56 / 1.65	0	294	+6

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Chella Choi (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(275.5)	27	18 / 1.64	0	70	-2
2	JBB	11 / 14 (0.786)	5 / 18 (0.278)	0 / 0 (0.000)	(257.0)	27	8 / 1.60	0	74	+2
3	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(279.5)	30	19 / 1.73	1	73	+1
4	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(268.0)	32	23 / 2.09	2	77	+5
TOTAL:		43 / 56 (0.768)	38 / 72 (0.528)	0 / 0 (0.000)	(270.0)	116	68 / 1.79	3	294	+6

Soo Bin Joo (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(271.5)	32	23 / 1.92	2	74	+2
2	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(263.0)	32	24 / 2.00	2	74	+2
3	JBB	6 / 14 (0.429)	9 / 18 (0.500)	1 / 1 (1.000)	(277.0)	28	17 / 1.89	0	76	+4
4	JBB	7 / 14 (0.500)	12 / 18 (0.667)	0 / 0 (0.000)	(269.0)	28	19 / 1.58	0	71	-1
TOTAL:		29 / 56 (0.518)	45 / 72 (0.625)	1 / 1 (1.000)	(270.1)	120	83 / 1.84	4	295	+7

Zixuan Wang (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	14 / 18 (0.778)	0 / 0 (0.000)	(250.5)	30	25 / 1.79	3	71	-1
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	77	+5
3	JBB	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(249.5)	34	30 / 2.14	3	73	+1
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(251.0)	0	0 / 0	0	74	+2
TOTAL:		15 / 56 (0.268)	28 / 72 (0.389)	0 / 0 (0.000)	(250.3)	64	55 / 1.96	6	295	+7

Nastasia Nadaud (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(275.0)	31	20 / 1.82	1	74	+2
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(282.5)	30	21 / 1.75	0	73	+1
3	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(266.0)	29	18 / 1.80	1	74	+2
4	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(271.0)	31	25 / 1.79	1	74	+2
TOTAL:		39 / 56 (0.696)	47 / 72 (0.653)	1 / 2 (0.500)	(273.6)	121	84 / 1.79	3	295	+7

Xinen Lin (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	78	+6
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	295	+7

Wanyao Lu (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3
4	JBB	10 / 14 (0.714)	7 / 18 (0.389)	0 / 0 (0.000)	(272.5)	23	10 / 1.43	0	75	+3
TOTAL:		10 / 56 (0.179)	7 / 72 (0.097)	0 / 0 (0.000)	(272.5)	23	10 / 1.43	0	295	+7

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Gemma Dryburgh (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(253.0)	27	17 / 1.70	0	71	-1
2	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(256.5)	28	19 / 1.90	1	73	+1
3	JBB	12 / 14 (0.857)	9 / 18 (0.500)	0 / 0 (0.000)	(248.0)	30	17 / 1.89	2	76	+4
4	JBB	6 / 14 (0.429)	8 / 18 (0.444)	1 / 1 (1.000)	(226.5)	27	17 / 2.13	1	75	+3
TOTAL:		35 / 56 (0.625)	37 / 72 (0.514)	1 / 1 (1.000)	(246.0)	112	70 / 1.89	4	295	+7

Cocona Sakurai (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	10 / 18 (0.556)	0 / 0 (0.000)	(247.5)	26	18 / 1.80	0	71	-1
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
3	JBB	2 / 14 (0.143)	7 / 18 (0.389)	0 / 1 (0.000)	(220.0)	28	12 / 1.71	1	76	+4
4	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 0 (0.000)	(244.5)	27	13 / 1.86	1	76	+4
TOTAL:		13 / 56 (0.232)	24 / 72 (0.333)	0 / 1 (0.000)	(237.3)	81	43 / 1.79	2	295	+7

Carolina Chacarra (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	11 / 18 (0.611)	0 / 0 (0.000)	(255.0)	26	17 / 1.55	0	69	-3
2	JBB	11 / 14 (0.786)	7 / 18 (0.389)	0 / 0 (0.000)	(282.5)	23	9 / 1.29	0	72	E
3	JBB	6 / 14 (0.429)	5 / 18 (0.278)	0 / 1 (0.000)	(220.0)	28	10 / 2.00	0	78	+6
4	JBB	13 / 14 (0.929)	7 / 18 (0.389)	0 / 0 (0.000)	(240.0)	28	15 / 2.14	2	76	+4
TOTAL:		41 / 56 (0.732)	30 / 72 (0.417)	0 / 1 (0.000)	(249.4)	105	51 / 1.70	2	295	+7

Dewi Weber (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	15 / 18 (0.833)	0 / 0 (0.000)	(280.0)	33	30 / 2.00	2	71	-1
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(287.5)	30	22 / 1.83	2	73	+1
3	JBB	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(272.0)	30	23 / 1.77	0	73	+1
4	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(275.0)	30	19 / 1.73	2	78	+6
TOTAL:		33 / 56 (0.589)	51 / 72 (0.708)	1 / 2 (0.500)	(278.6)	123	94 / 1.84	6	295	+7

Hinako Shibuno (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 0 (0.000)	(271.5)	29	17 / 1.89	1	74	+2
2	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(281.5)	27	16 / 1.45	0	70	-2
3	JBB	7 / 14 (0.500)	9 / 18 (0.500)	0 / 0 (0.000)	(257.5)	24	13 / 1.44	0	70	-2
4	JBB	11 / 14 (0.786)	7 / 18 (0.389)	0 / 0 (0.000)	(267.5)	31	14 / 2.00	3	81	+9
TOTAL:		38 / 56 (0.679)	36 / 72 (0.500)	0 / 0 (0.000)	(269.5)	111	60 / 1.67	4	295	+7

Jodi Ewart Shadoff (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(262.5)	32	24 / 2.00	2	75	+3
2	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 1 (0.000)	(272.5)	29	19 / 1.73	1	72	E
3	JBB	7 / 14 (0.500)	8 / 18 (0.444)	0 / 0 (0.000)	(261.0)	30	13 / 1.63	1	78	+6
4	JBB	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(260.0)	29	20 / 1.67	0	71	-1
TOTAL:		38 / 56 (0.679)	43 / 72 (0.597)	1 / 2 (0.500)	(264.0)	120	76 / 1.77	4	296	+8

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Ssu-Chia Cheng (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	9 / 18 (0.500)	0 / 1 (0.000)	(269.0)	31	16 / 1.78	0	76	+4
2	JBB	8 / 14 (0.571)	7 / 18 (0.389)	0 / 0 (0.000)	(226.0)	22	11 / 1.57	0	71	-1
3	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(241.0)	29	19 / 1.90	1	74	+2
4	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(275.0)	30	21 / 2.10	2	75	+3
TOTAL:		30 / 56 (0.536)	36 / 72 (0.500)	0 / 1 (0.000)	(252.8)	112	67 / 1.86	3	296	+8

Emma McMyler (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(276.5)	25	19 / 1.46	0	68	-4
2	JBB	11 / 14 (0.786)	10 / 18 (0.556)	1 / 1 (1.000)	(263.0)	30	21 / 2.10	2	74	+2
3	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 0 (0.000)	(275.0)	27	13 / 1.86	1	75	+3
4	JBB	6 / 14 (0.429)	6 / 18 (0.333)	0 / 0 (0.000)	(255.0)	30	12 / 2.00	2	79	+7
TOTAL:		35 / 56 (0.625)	36 / 72 (0.500)	1 / 1 (1.000)	(267.4)	112	65 / 1.81	5	296	+8

Briana Chacon (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 1 (0.000)	(277.5)	26	11 / 1.57	0	72	E
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
3	JBB	13 / 14 (0.929)	8 / 18 (0.444)	0 / 0 (0.000)	(274.0)	25	15 / 1.88	2	70	-2
4	JBB	11 / 14 (0.786)	6 / 18 (0.333)	0 / 0 (0.000)	(0.0)	31	15 / 2.50	3	80	+8
TOTAL:		31 / 56 (0.554)	21 / 72 (0.292)	0 / 1 (0.000)	(275.8)	82	41 / 1.95	5	296	+8

Qianhui Lin (+9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(285.0)	31	23 / 1.77	1	72	E
2	JBB	5 / 14 (0.357)	12 / 18 (0.667)	0 / 0 (0.000)	(0.0)	33	23 / 1.92	1	76	+4
3	JBB	7 / 14 (0.500)	12 / 18 (0.667)	0 / 1 (0.000)	(295.5)	30	21 / 1.75	0	72	E
4	JBB	7 / 14 (0.500)	10 / 18 (0.556)	1 / 1 (1.000)	(294.0)	32	23 / 2.30	3	77	+5
TOTAL:		29 / 56 (0.518)	47 / 72 (0.653)	1 / 3 (0.333)	(291.5)	126	90 / 1.91	5	297	+9

Zining An (+9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(262.5)	28	23 / 1.64	0	67	-5
2	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 0 (0.000)	(256.0)	27	12 / 1.71	0	75	+3
3	JBB	6 / 14 (0.429)	6 / 18 (0.333)	0 / 0 (0.000)	(252.5)	28	13 / 2.17	1	78	+6
4	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(255.0)	31	17 / 1.70	1	77	+5
TOTAL:		30 / 56 (0.536)	37 / 72 (0.514)	0 / 0 (0.000)	(256.5)	114	65 / 1.76	2	297	+9

Melanie Green (+9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	14 / 18 (0.778)	1 / 1 (1.000)	(246.0)	31	24 / 1.71	3	73	+1
2	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(252.0)	31	20 / 1.82	1	74	+2
3	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 0 (0.000)	(257.0)	26	17 / 1.70	1	71	-1
4	JBB	5 / 14 (0.357)	6 / 18 (0.333)	0 / 1 (0.000)	(252.5)	26	10 / 1.67	0	79	+7
TOTAL:		29 / 56 (0.518)	41 / 72 (0.569)	1 / 2 (0.500)	(251.9)	114	71 / 1.73	5	297	+9

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Xiang Sui (+10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	77	+5
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	298	+10

Suvichaya Vinijchaitham (+10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	12 / 18 (0.667)	0 / 3 (0.000)	(274.0)	29	19 / 1.58	0	75	+3
2	JBB	8 / 14 (0.571)	10 / 18 (0.556)	0 / 1 (0.000)	(310.0)	27	17 / 1.70	0	71	-1
3	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(285.0)	34	23 / 1.92	1	75	+3
4	JBB	12 / 14 (0.857)	8 / 18 (0.444)	0 / 1 (0.000)	(275.5)	30	15 / 1.88	0	77	+5
TOTAL:		31 / 56 (0.554)	42 / 72 (0.583)	0 / 5 (0.000)	(286.1)	120	74 / 1.76	1	298	+10

Laetitia Beck (+10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(270.0)	29	20 / 1.82	0	72	E
2	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(271.0)	31	23 / 1.92	2	72	E
3	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(272.5)	28	20 / 1.82	0	74	+2
4	JBB	7 / 14 (0.500)	5 / 18 (0.278)	0 / 1 (0.000)	(235.0)	28	9 / 1.80	0	80	+8
TOTAL:		33 / 56 (0.589)	39 / 72 (0.542)	0 / 1 (0.000)	(262.1)	116	72 / 1.85	2	298	+10

Gina Kim (+12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	9 / 18 (0.500)	1 / 2 (0.500)	(272.0)	27	15 / 1.67	0	72	E
2	JBB	7 / 14 (0.500)	9 / 18 (0.500)	0 / 0 (0.000)	(256.5)	29	17 / 1.89	3	76	+4
3	JBB	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(274.5)	33	28 / 2.00	2	73	+1
4	JBB	6 / 14 (0.429)	9 / 18 (0.500)	0 / 1 (0.000)	(243.0)	31	19 / 2.11	1	79	+7
TOTAL:		29 / 56 (0.518)	41 / 72 (0.569)	1 / 3 (0.333)	(261.5)	120	79 / 1.93	6	300	+12

Minji Kang (+13)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(267.5)	28	18 / 1.80	0	72	E
2	JBB	10 / 14 (0.714)	9 / 18 (0.500)	1 / 1 (1.000)	(264.0)	29	16 / 1.78	0	74	+2
3	JBB	9 / 14 (0.643)	7 / 18 (0.389)	0 / 0 (0.000)	(245.5)	31	13 / 1.86	1	79	+7
4	JBB	7 / 14 (0.500)	6 / 18 (0.333)	0 / 0 (0.000)	(272.0)	26	11 / 1.83	0	76	+4
TOTAL:		35 / 56 (0.625)	32 / 72 (0.444)	1 / 1 (1.000)	(262.3)	114	58 / 1.81	1	301	+13

Celine Borge (+13)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(260.5)	31	21 / 1.91	1	74	+2
2	JBB	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(287.5)	32	24 / 2.00	2	74	+2
3	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(269.5)	29	17 / 1.89	1	74	+2
4	JBB	9 / 14 (0.643)	5 / 18 (0.278)	1 / 1 (1.000)	(260.0)	28	10 / 2.00	0	79	+7
TOTAL:		36 / 56 (0.643)	37 / 72 (0.514)	2 / 2 (1.000)	(269.4)	120	72 / 1.95	4	301	+13

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Sunday, March 8, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Arpichaya Yubol (+15)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 2 (0.000)	(237.5)	30	16 / 1.78	1	77	+5
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1
3	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(254.0)	29	17 / 1.89	3	75	+3
4	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 1 (0.000)	(265.0)	32	13 / 1.86	0	80	+8
TOTAL:		26 / 56 (0.464)	25 / 72 (0.347)	0 / 3 (0.000)	(252.2)	91	46 / 1.84	4	303	+15

Shuying Li (+15)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2
2	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1
3	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3
4	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	81	+9
TOTAL:		0 / 56 (0.000)	0 / 72 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	303	+15

Lauren Walsh (+16)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(250.0)	26	18 / 1.64	0	71	-1
2	JBB	9 / 14 (0.643)	10 / 18 (0.556)	1 / 1 (1.000)	(280.0)	30	19 / 1.90	0	77	+5
3	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(258.5)	34	18 / 2.00	2	80	+8
4	JBB	7 / 14 (0.500)	10 / 18 (0.556)	0 / 0 (0.000)	(261.5)	31	21 / 2.10	2	76	+4
TOTAL:		34 / 56 (0.607)	40 / 72 (0.556)	1 / 1 (1.000)	(262.5)	121	76 / 1.90	4	304	+16

2026 Blue Bay LPGA

Round 4 Hole Summary

Sunday, March 8, 2026
Jian Lake Blue Bay Golf Course

Purse: \$2,600,000.00
Par: 36 36 - 72 Yardage: 6712

Hole	Par	Rnd 1	Rnd 2	Rnd 3	Rnd 4	Tm Total	Rank		Rank	-2	-1	0	+1	+2	Other
1	4	4.102	4.176	3.667	4.133	4.041	11	RND 4:	10	0	9	49	15	2	0
								Total:		0	69	222	68	6	1
2	4	3.963	4.306	4.000	4.453	4.172	5	RND 4:	2	0	3	38	31	3	0
								Total:		0	46	215	101	4	0
3	5	5.102	4.546	4.880	4.800	4.831	16	RND 4:	17	2	22	41	9	1	0
								Total:		3	115	201	38	6	3
4	3	3.278	3.176	3.000	3.187	3.172	5	RND 4:	7	0	6	49	20	0	0
								Total:		0	28	250	85	3	0
5	4	4.093	4.120	4.480	4.413	4.246	3	RND 4:	4	1	3	43	20	8	0
								Total:		1	49	194	105	15	2
6	4	4.009	4.250	4.067	4.147	4.120	9	RND 4:	9	0	9	47	18	1	0
								Total:		0	47	234	79	6	0
7	3	3.102	3.037	3.027	3.120	3.071	10	RND 4:	12	0	6	54	15	0	0
								Total:		1	36	267	60	2	0
8	5	4.481	4.815	4.600	4.760	4.661	18	RND 4:	18	1	23	44	7	0	0
								Total:		10	135	190	31	0	0
9	4	3.963	4.074	4.307	4.267	4.128	8	RND 4:	5	0	7	44	21	3	0
								Total:		0	40	245	76	4	1
Out	36	36.093	36.500	36.028	37.280	36.442		RND 4:		4	88	409	156	18	0
								Total:		15	565	2018	643	46	7
10	4	4.361	4.519	4.307	4.453	4.415	1	RND 4:	2	1	3	37	30	3	1
								Total:		1	21	199	120	20	5
11	3	3.120	3.176	3.133	3.227	3.161	7	RND 4:	6	0	5	49	20	1	0
								Total:		0	28	256	77	5	0
12	4	4.333	4.472	4.107	4.587	4.380	2	RND 4:	1	0	4	30	34	7	0
								Total:		1	30	183	134	17	1
13	4	4.213	4.176	4.507	4.133	4.246	3	RND 4:	10	0	8	52	12	3	0
								Total:		0	29	235	88	11	3
14	5	4.843	4.843	4.760	4.867	4.831	16	RND 4:	16	0	22	42	10	1	0
								Total:		2	114	204	38	7	1
15	4	3.935	3.935	4.200	4.080	4.019	13	RND 4:	13	0	11	53	6	4	1
								Total:		1	70	233	47	13	2
16	3	3.037	3.028	3.107	2.880	3.016	14	RND 4:	15	0	14	56	5	0	0
								Total:		0	57	252	53	3	1
17	4	4.065	3.981	3.960	4.173	4.041	11	RND 4:	8	0	15	37	19	3	1
								Total:		0	89	193	72	7	5
18	5	4.926	4.926	4.893	4.987	4.932	15	RND 4:	14	0	12	52	11	0	0
								Total:		1	100	200	55	8	2
In	36	36.833	37.056	36.974	37.387	37.041		RND 4:		1	94	408	147	22	3
								Total:		6	538	1955	684	91	20
TOTAL	72	72.926	73.556	73.002	74.667	73.483		RND 4:		5	182	817	303	40	3
								Total:		21	1103	3973	1327	137	27